Bellringer
& 68 Plant Hormones and Responses

ability to respond to stimuli is a defining characteristic of

3. Answers will vary. Students should understand that an
living organisms.
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1. The photos show the identical petals of a plant in two
different positions. What do you think could cause this change
in the petals’ appearance?

2. If you learned that the flower folds in bright sunlight, what
purpose would you conclude is being served?

3. What defining characteristic of all living organisms is displayed
by the plant in the photos?
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